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QUESTION 1

Which of the following statements are TRUE regarding the SDF templates /filters? (Choose three) 

A. An SDF filter can identify an SDF flow by matching the information in the IP 5-tuple and the Layer-7 application 

B. One SDF template can have only one SDF filter for each direction. 

C. One dedicated bearer can have more than one SDF template and multiple SDF filters. 

D. One dedicated bearer can have only one SDF template. 

E. One SDF template can have multiple SDF filters for each direction, 

F. One dedicated bearer can have more than one SDF template. 

Correct Answer: CEF 

 

QUESTION 2

How many S11 GTP-C tunnels are established for a UE having: 

-

One default bearer to APN1, and 

-

One dedicated bearer to APN1, and 

-

One default bearer to APN2, and 

-

Two dedicated bearers to APN2? 

A. 

One 

B. 

Two 

C. 

Three 

D. 

Four 
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E. 

Five 

Correct Answer: A 

 

QUESTION 3

Which of the following most accurately describes the messages used to manage a Diameter connection path? 

A. The Capabilities-Exchange message 

B. The Device-Watchdog message 

C. The Credit-Control message 

D. The Disconnect-Peer message 

E. All of the above answers are correct 

F. Only answers A, B and D are correct 

Correct Answer: F 

 

QUESTION 4

Which of the following statements is FALSE regarding the X2 interface? 

A. It is the interface used to connect two eNodeBs. 

B. It provides some mobility management functions between two eNodeBs. 

C. The X2-AP is the application layer signaling protocol for the X2 interface. 

D. It is never used to transport user data packets. 

E. It is an IP-based interface. 

Correct Answer: D 

 

QUESTION 5

Which of the following most accurately describes the QCI / ARP? 

A. The QCI has 9 classes and the ARP has 15 levels. 

B. A default QCI/ARP policy is predefined on the Alcatel-Lucent 7750 MG and cannot be modified. 

C. Each EPS bearer is associated with one QCI value. 

D. All of the above answers are correct. 
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E. Only answers A and B are correct. 

Correct Answer: D 
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